SPSS Syntax to compute USER-Participation scores

** USER-PARTICIPATION: score Frequencies, score Restrictions, score Satisfaction.

** All three scales have a score range of 0-100, higher scores reflecting better participation (higher frequency, less restrictions, higher satisfaction).


** FREQUENCIES scale.
** Item A and B are weighted.

** It is assumed that items are scored as 0 (not at all) up to 5 (36 hours or more).


COMPUTE UPfreqA = ((MEAN.3 (UP1, UP2, UP3, UP4))/5) * 100. 
COMPUTE UPfreqB = ((MEAN.5 (UP5, UP6, UP7, UP8, UP9, UP10, UP11))/5) * 100.
COMPUTE UP_FREQ = MEAN (UPfreqA, UPfreqB).


 

** RESTRICTIONS scale.

** there is no minimum number of completed items.

** it is assumed that items are scored as 0 (not possible) up to 3 (wihout difficulty), and Not Applicable is recoded into missing value.


COMPUTE UP_RESTR = ((MEAN (UP12, UP13, UP14, UP15, UP16, UP17, UP18, UP19, UP20, UP21, UP22))/3) * 100.


 

** SATISFACTION scale.

** It is assumed that items are scored as 0 (very dissatisfied) up to 4 (very satisfied), and Non applicable is recoded into missing value.


COMPUTE UP_SAT =  ((MEAN.6 (UP23, UP24, UP25, UP26, UP27, UP28, UP29, UP30, UP31, UP32))/4) * 100.  

